108-002( 154) (1/2)

108-002

cm
10|20
10(20|30
o 10 20 30 40 50 [
E IRCIEN ! 5 =
1.35 1.3 7|7 / 4
YAYAYAYA 15 5 3 30 5 =
(VAVAVAVAY] 1.45 —
IARAYAVAWAY —
(VAVAVAVAY] =
IAVAYAYAYA 2.15[ 1 3 =
(VAVAVAVAY] / / =
NN 12)1]1]|3]24 =
A\YAVAVAVAY =
AN 2.47 =
(VAVAVAVAY] =
AYAYAYAYA 35| 1 (1|24
VAVAVAVAY] =777 =
NAAAN =
VAV o o s s N 3
NAA AN . =
H s
(VAVAVAVAY] 4.15 ? =
IARAYAVAWAY -
(VAVAVAVAY] 1|22 3] ¢4 =
NAAAN 7.5 3
(VAVAVAVAY] =
IAYAYAVAWAY -
(YAYAYAYAY] 5.15 8 =
NAANI / =
\VAVAVAVAV] 212 14]3 g -
NNANN 5.45 =
VAV 6.05
NAAAN =
(VAVAVAVAY] 4
NAAA N ~Z——6.15 4 E
(VAVAYAYAY] =
AN I 11112131 4 =
(VAVAVAVAY] =
IARAYAVAWAY —
(VAVAVAVAY] =
NN 7.15| 1 12 =
7.25 5.90 ; 7132 E
18 16 | 34 | 1.9 =
7.49 =
8.15 4 =
7 E
1112 3] 4 =
8.45 =
9.15 5
/
112]23]| 4
9.65 2.4 9.45
""" 10.15! 22 —
P / =
""" 517 ]10/30] 22 =
10.45] =
11.20 11.15 3/3 =
9 |10]14/30] 33 =
11.45] =
12.15 15 —
7 =
4|5 |6 ]3] 15
12.45] =
13.15 v
5157 /3] 17 =
13.45] =
14.15 2/8 =
7 |10 11|30 28 =
14.45 =
15.15 3/4 =
10 (10|14 |30 34 =
15.45 / 3
16.20 16.15 10 =
214 ]4a|3] 1 =
16.45 =
17.15 13 —
/ -
3]5]|5 3] 13 =
17.45 =
18.15 12 —
/ -
4| alal30] 12 =
18.45 =
19.15! 12 —
7 =
3145 |3] 12 =
1955 19.45] 3
20.15 18 —
/
L 151518130} 18
20.45
16 -
21.15 € 1 =




N
=

N
N

N
[N

N}
I

I
A

N
>

N
N

21.90

22.55

23.10

= "
n o

27.40,

0:0:0:0:0:0:0:0:0:0:0:0:0-:0] * |

55830

20.45
21.15 16
== /
5156 |30

21.45
13 | 50
22.15 YR
15202 |2

22.37
28 50
23.15 / /
2] 9 19

23.34
24.15 1,1 5,0
14 (25| 3 |23

24.38
50
25.15 7
18|32 20

25.35
25 50
|26.15| / /
5|6 16

26.31
20 | 50
27.15 7|7
14]16]5 |25

27.40

108-002( 154) (2/2

)

\

78.9

65.2

93.8

J/J/J/J/J/}Z




